HX BN O R O (ER264E1 A 1 B 84E)

RS X
X4 L A0 Hit X A4 QLR AT
% 58 P % -8 P

1 -3 782 879 877 1,756 40 4 H 264 341 341 682
2| A (fE) 1,040 1,227 1,282 2,509 44 P17 3 3 3 6
4 Fiid 525 554 561 1,115 45 S H 111 93 83 176
5 o5 e <F 375 517 502| 1,019 48 YroH 415 445 520 965
6 UN=! 263 440 397 837 49 HUFRBt 306 326 365 691
8| Al (fF) 357 404 417 821 50 S B 370 381 446 827
10 fEL 203 201 223 424 52 PEDH 434 490 512 1,002
11 5 H 53]  N\&HE 465 450 561| 1,011
14 ) 6 12 7 19 55 oL 360 396 437 833
15| BRI 1,235 1,505 1,627 3,132 56 RN 265 268 333 601
16|  FHEHISE 1,040 1,493 1,529 3,022 57 FEAM AL 173 197 206 403
17 HE7)S 366 379 431 810 58 —H 187 179 212 391
18 &R 338 449 451 900 59 N 207 221 253 474
19 A 17 19 20 39 60 IS E1T B 217 221 230 451
20 A H 1,173 1,380 1,380 2,760 61| mE1TH 114 126 137 263
22 ReVh=F 828 996 1,071 2,067 62| ®mHE2TH 149 179 217 396
23 A 279 339 343 682 63| mE3TH 195 208 237 445
24 FH N 899 1,027 1,123| 2,150 64| mHE4TH 71 86 81 167
25 J /T 65 7INHHIET 410 485 497 982
27 oW H 266 269 342 611 66| Hrhfr 202 233 243 476
29|  FHEHAGE 14 14 14 67 =] 110 124 144 268
31 L 99 116 101 217 68| A 2T B 222 242 271 513
33 KBk L 307 367 395 762 69 SR A 148 177 206 383
38 H/T 157 197 181 378

39| IR 145 203 214 417 7t 16,112 18,858| 20,009 38,867




HX BN O R O3 (SERk264E1 A 1 H B17E)

FlEFRo X
HX A (12 8l A HX A TR L "
% % A 5 LS (oo

311 EWH1ITH 474 468 480 948 391| #MF1TH 474 504 486 990
312| HH2TH 189 222 225 447 392| #WT2TH 109 111 109 220
321| MRITH 427 401 441 842 393 3T H

390| MHE2TH 676 686 691| 1,377 411 XM1TH 374 395 416 811
393 FE3TH 447 490 484 974 412 AKW2TH 351 412 462 874
331| BAE1TH 563 528 521| 1,049 413 KM3TH 276 283 273 556
332| BAH2TH 411 444 453 897 414 K4 TH 387 389 418 807
333| BAM3TH 429 386 425 811 431 WE/ET1TH 409 456 492 948
334| BAM4TH 614 642 778| 1,420 432| WE/HT2T H 857 963| 1,063| 2,026
341 KR#M1TH 735 735 750 1,485 44() (NI 648 737 753 1,490
342| R#2TH 316 359 355 714 451 HEWITH 437 481 541 1,022
343 RH3TH 393 452 453 905 452| EFIR2TH 259 252 321 573
344 R#4TH 282 284 337 621 461| X1 T H 814 1,041 1,077 2,118
345 KRHSTH 405 397 476 873 462 —XHEB2TH 635 725 744 1,469
351 KM1ITH 913 855 941 1,796 471 AHITH 43 53 67 120
352| EM2TH 1,028 937| 1,077| 2,014 472 AH2TH 220 284 289 573
353 K3 T H 705 738 772 1,510 473 AH3TH 183 241 248 489
361| HAFRLITH 273 272 240 512 474 A HATH 318 439 468 907
362| HAHE2T H 414 448 484 932 475 AHS5TH 270 320 349 669
370 W5 v <F 577 623 615 1,238

31| AHLITH 213 295 263 558

3g2| AH2TH 714| 1,053 1,022| 2,075 = 18,556 20,162| 21,185 41,347
383 AH3TH 294 361 326 687 o~ 34,668| 39,020 41,194| 80,214




